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THEX Sy - TAE - FRAI - f50 oK TREAL K & A B AN & # WE (GBS
T R (B s HL0K)
= 1 36, 123, 899
o B 15 A b A
= 1 36, 123, 899
1 AR X i
= 1 36, 123, 899
TPR 5 HE L2SW[E &% 447" A, SFP+ (10GBASE-S|
R) X 1& e
&) 6 2, 259, 729 13, 558, 374
TPR 5 HE L3SWE &% 447" B, ACTEJR — HAk
&) 1 2,998, 411 2,998, 411
INFFRANT AT T = ACTEVR — HE 1k, 10GBASE-SR X 25 ¢ ¢
&) 1 7, 446, 386 7, 446, 386
10GBASE-RAV§~7 z=7 (SFP+) 10GBASE-SR SFP+
B 8 274, 027 2,192,216
10GBASE-RAV§~7 z=7 (SFP+) 10GBASE-ER SFP+
B 4 2,482, 128 9,928, 512
s B2
= 1 36, 123, 899
i % i
= 1 2, 339, 903
o P 1 AL % T
= 1 374, 872
T R E R R
= 1 305, 628
TPR L SE 1 B L2SWE &R 547" A
= 1 47, 021 47, 021
TPR L SE 1 B L2SWRE ER S 47" A, 28 B LA IE
EE))
= 5 32,913 164, 565
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TPR L SE 1 B L3SWE &R 547" B
= 1 47, 021 47, 021
IVFRIANT AT Y-V ACEIR &k
= 1 47, 021 47, 021
T MAB LR L T
= 1 69, 244
TPfR 2G5 L2SW[E &R 48%" —b, fift 25 14 A48
= 1 10, 653 10, 653
TPfR 2G5 L2SWE &R A8H —b, fft 14 A~ A,
27 B EARERHIER Y
= 5 7,457 37, 285
TPfR 2G5 L3SWE ™Y, =& AL
= 1 10, 653 10, 653
INFRXANT AT MR I E RN
= 1 10, 653 10, 653
YAThAVT) V=yay
= 1 1,917,871
YAThAVT) V=yay
= 1 1,917,871
YAThAVT) V=yay
= 1 1,917,871
T35 8 e T
= 1 47,160
ik T
= 1 47,160
% (BR)
= 1 47,160
(R
= 1 2, 339, 903
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X 1 13, 856
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X 1 13, 856
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By Bty
X 1 1,094, 122
i E ik
= 1 7, 740, 269
ek
X 1 3, 543, 486
FRe A PR 2
X 1 4,196, 783
T8 5
X 1 11, 399, 627
— A B
X 1 2,476, 474
T3l As
= 1 50, 000, 000
EEETREEE ]
= 1 5, 000, 000
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